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R é p o n s e s

1. A

2. B

3. B

4. A

5. D

6. B

7. D

8. C

9. D

10. A

11. B

12. D

Quelle lettre représente le mieux l'opération manquante de la série.

1) 8 × 7 = 56

56 ÷ 8 = 7

56 ÷ 7 = 8

A. 7 × 8 = 56

B. 64 ÷ 7 = 57

C. 8 ÷ 56 = 7

D. 7 × 56 = 8

2) 7 × 6 = 42

42 ÷ 7 = 6

42 ÷ 6 = 7

A. 14 ÷ 7 = 7

B. 6 × 7 = 42

C. 6 × 42 = 7

D. 42 × 7 = 49

3) 3 × 6 = 18

6 × 3 = 18

18 ÷ 3 = 6

A. 10 ÷ 6 = 4

B. 18 ÷ 6 = 3

C. 18 ÷ 6 = 6

D. 4 × 6 = 10

4) 10 × 8 = 80

80 ÷ 10 = 8

80 ÷ 8 = 10

A. 8 × 10 = 80

B. 10 ÷ 80 = 8

C. 9 × 10 = 19

D. 80 × 10 = 90

5) 4 × 8 = 32

32 ÷ 8 = 4

32 ÷ 4 = 8

A. 13 ÷ 8 = 5

B. 8 ÷ 32 = 4

C. 5 × 8 = 13

D. 8 × 4 = 32

6) 10 × 8 = 80

8 × 10 = 80

80 ÷ 10 = 8

A. 19 ÷ 8 = 11

B. 80 ÷ 8 = 10

C. 8 ÷ 80 = 10

D. 88 ÷ 10 = 78

7) 2 × 3 = 6

6 ÷ 3 = 2

6 ÷ 2 = 3

A. 6 ÷ 3 = 3

B. 6 × 3 = 9

C. 3 × 3 = 6

D. 3 × 2 = 6

8) 4 × 9 = 36

9 × 4 = 36

36 ÷ 9 = 4

A. 5 × 9 = 14

B. 36 ÷ 9 = 9

C. 36 ÷ 4 = 9

D. 4 × 36 = 9

9) 7 × 7 = 49

49 ÷ 7 = 7

49 ÷ 7 = 7

A. 7 ÷ 49 = 7

B. 49 ÷ 7 = 7

C. 8 × 7 = 15

D. 7 × 7 = 49

10) 5 × 2 = 10

2 × 5 = 10

10 ÷ 2 = 5

A. 10 ÷ 5 = 2

B. 8 ÷ 2 = 6

C. 12 ÷ 5 = 7

D. 10 × 2 = 12

11) 3 × 8 = 24

8 × 3 = 24

24 ÷ 3 = 8

A. 32 ÷ 3 = 29

B. 24 ÷ 8 = 3

C. 24 ÷ 8 = 8

D. 4 × 8 = 12

12) 7 × 5 = 35

35 ÷ 7 = 5

35 ÷ 5 = 7

A. 42 ÷ 5 = 37

B. 5 × 35 = 7

C. 7 ÷ 35 = 5

D. 5 × 7 = 35
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